B.If x3+2x*—ax—b»b is

exactly divisible by (x% — 1),
2: Facy CVIIDe
@El ) ;Cx-ﬂ) (‘L—Q then the values of a and b are:
)

PN riry x3+2x2—ax—b,
2+|= © @ Kem o(xz—l), ¥ @t @@ @
= x=—| fasrsa 8, oY a 3k b &
I AT &

ﬂl aJa=—-1,and b =2

_l +2+Q—b=—0 =) Q_b__.__l b)a=1andb = -2

4#fa=1andb =2

\+2-a-l=0 =) *arp = +3 da=2andb =2
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9. If x40 + 30 is divided by x* + 1, find the remainder
gfg 110 + 30 x* + 1@ Fnfaa Far s, ar Avwd




10. x35 + 3 is divided by x® + 1, find remainder.
x35 + 3@ x° + 1.7 Renfaa fFar sar 8, avwe A1 d 10 |
a)4 b) —4 0/)”2 d) -2

= -|
Qxﬁ)_,-k 3
=@'+3
=9




. One of the factors of the polynomial x* — 7x3 + 5x% — 6x + 81 is

—7x34+5x2—6x+81F INUAES H A TH ¢ :
9{’x+2 o Ma-2y, Wr+x, Hx-3
1—"’ "L=2 ’l:—-%

-6Q
16-56+20 1249 )

N

”7




12.The expression x3q% — x3pt + 4x*pt — 4x*q* + 3xq*? — 3xpt is

divisible by
FHRIOT  x3q% — x3pt + 4x*pt — 4x2q? + 3xq? — 3xpt fraa
faanfara g 2
a)Only (x—1) b) Only (x — 3)
Bothaorb d) Neitheranorb

0 At U gt o
o AT e ot




13, If x3 + 5x% + 10k leaves remainder —2x when divided by x? + 2,=0
then the value of k is: .:- 2
x3+5x24+10k Y 22 +2 W aamarta‘r,—zxewrgm%
al kST AT 9T {9

-ZT b) -1 1 d) 2
)2y, b) A )
—/‘2’(—|0 +10K =/-'2"i

10k= 19
Y=




l4. Factor of x2° — x26 — x23 4 1.

x20 — x%6 —x?3 + 1 F UGS AT F |
a)(x—1)butnot (x+1) b) (x + 1) butnot (x — 1)
/)‘Both (x+1)and (x —1) d) Neither (x + 1) nor (x — 1)

xr-1z0 =) x={, PUJ iIn Po'-amw“‘d
=1 —l+) =0 , po (%) (4 o facks¥

Ltl=o =) w=-|, P.,a‘ w poﬂamwi«q-
=1+ + =0, po(x+)i e Jacher.




5. If 3x3 — 2x?y — 13xy? + 10y? is divided by x — 2y, then what is the
emainder?
Ifg 3x% — 2x%y — 13xy? + 10y & x — 2y & Fnfaa frar smar
T, a6 AUET FAT T ?

0 b) x cy+5 dx—-3

(et 'JL—‘Zd:O =) x=2Y4, |>va in Po\jvww&o.ﬂ

=2

2‘433- 365—26\&3 +\oa3 = 0

CDS 18 Nov 2018 8



|6. Let p(x) be the HCF of the Polynomials f(x) = 6(x> + 3x%)(x* — 16)(x* +
9x + 18) and g(x) = 8(x* + 4x3)(x? + 6x + 9)2, find p(—2).
AT p(x), f(x) = 6(x3 + 3x2)(x2 — 16)(x% + 9x + 18) 3 g(x) =
8(x* + 4x%)(x? + 6x + 9)? TEUG FNE.A.§ A p(—2% T TAT AT |
a) —2 b) 0 3’56/16 d)8




(7. Find the remainder when LCM of the polynomials f(x) = 4(x — 1)(x* + 6x +
8)and g(x) = 10(x — 1)(x + 2)(x? + 7x + 10) is divided by (x + 3)= O
f(x) =4(x—-1)(x2+6x+8)3Rg(x) =10(x — 1) (x + 2)(x% N\7x +
10) 9g9¢ & .. (x +3) & AT o 9T AYHA FAT T ?
a)—320 b)320 160 d) 160

$)= 4 ) (o)) X2
9C0) = 100 @) @) (x45)

L(_M.—. 20 (7(—1) (1+l1)<1+?_)"'()( +5>
Rewn = WX-Uy | x\y2 =-l60o




Synthetic and long division:

x.) 2x —5x+6<

' (I -2 -5 6
o o 1 -l -6
-x%X 5% | -] -6 O
:Ilix A-1=0 2
6X+6
36X46 |
0




K. If two factors of a* — 2a® — 9a? + 2a + 8 are (a + 1) and (a — 1), then
what are the other two factors?
I (a+1) 3R (a-1), a* - 2a° - 94 + 2a \8 F IUEES §,
ar & 3 IUAES FAT FhT ?

a)(a—2) and (a+4) b) (a + 2) and (a + 4) Q-1=0
/(a+2)and(a—4) d) (a —2) and (a — 4) =)
-\l -2 -9 2 € Q+l=

o -l 3 § -< Q==

—

" -3 -6 9\0O

| | 12



a-20 -85

@2—-! j -—«Q& GM\ZX-I-QL @'!) (ﬁﬂ ):ail
a"'f z

‘°?0L3 Qa, -
1203 124 @ “)@LH,)

REARRS
RSt
QO




Higher degree equations’ SoR & PoR:

A D P LEEpepeo
(0! 2
D BY - (xt [z,q)l?—Jr@F,fF(J«)z- AP
YD B K-t et Y

Yo, ]
(Vv + |°a6 *-(S) - Q‘)’\(S'\' d(&*o(@g.p(ﬁr)x

R




) axtoxtC

o+ ‘f P

) axC+bxscat+d=0
B
P&
P-4




x3—-2x2-5x+6

! Representation on graph:

ptl= 2

N
A= 5 /{‘T /3

-2 6/\/‘X

16






ta. What is (x — a)(x — b)(x — c) equal to?
x—a)(x—b)(x—c) FaF T § ?
x3—(a+b+c)x?*+ (bc + ca + ab)x — abc
b) x3 + (a+ b + ¢)x? + (bc + ca + ab)x + abc
c)x3 —(bc+ca+a)x*+(a+ b+ c)x —abc
d) x3 + (bc + ca+ a)x> — (a+ b + c)x — abc

A= (a+b)x = (- &l@ E’Q

%-(Mbﬂ)xz-*(ﬁb-l-bu(a)'(- abc




20.If a, B and y are the zeros of the polynomial f(x) = ax3 + bx? + cx + d,
then a? + B2 + y?is equal to

0 bz:;fac . %bzt—;ac
(%41 ) - alxpr BUHT)

= b 2¢O




7; 9 21.If x,y,z are the three factors of a3—7a—6,
@ +0-0L "74, -6 then thevalueof x + y + z will be
I a®* —7a-6 & AT T |
' x + y + z&HT AT g ?

- o _ a b) 3 c)6 d) a
S G N e o P, X
@0 @p)e-y)
- 5 2

SSC CGL T2, 12 Jan 2017



92 . X3 + 6x% + 11x + 6 is divisible by
x3 4+ 6x%+11x + 6 fasnfaa § :
a)Only (x+ 1) b) Only (x + 2)
c)Only x + 3) All of these

) Werg sphen  xt|=0 =)D

ii) a+b+C= -6 xA= _,|{__'2,_3
% Gb +bHg= | Y= A=-2
—2-9— Rt| )= -
=l Q)OC; _6/7 37271 QH)‘Q (Iﬂ—)xo

l 6+

| | 21



2%. What are the factors of x3 + 4x?> — 11x — 30 ?

: : x>+ 4x?* — 11x — 30 & IOAES FIAT glr ?
‘)OP{‘W’W a) (x — 2), (x + 3) and (x + 5)
B b) (x+2),(x+3)and (x — 5)
||> %x+2),(x—3)and(x+5)
O+b+( = -Y d) (x +2),(x —3) and (x — 5)
Gbtb+@= | |
-5 O\bC_: 30 _5-/ ?JI-:l
|
‘g QHS )) (1-3\)(19,)

22



24. HCF and LCM of two polynomials are (x + 3) and (x> — 9x? — x + 105)
respectively. If one of the two polynomials is x> — 4x — 21, then the other is
QY T89S # A.H. IR a.F FAM (x+3) AT (3 —9x% — x + 105)
8] lg @t & ¥ v dgug x2 — 4x — 21 § @ GEA FAT g ?
a) x% + 2x — 21 by x> +2x+15 . %
/ \/—Zx—}S d)x2—x—15 ~
%
e LM, e

N, = HCExLM (1)
‘ N \ -9 _\ \Q—M
l ] 9 X )=0o
A=)

| CDS 18 Nov 2018 | 23



	Untitled Section
	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14
	Slide 15
	Slide 16
	Slide 17
	Slide 18
	Slide 19
	Slide 20
	Slide 21
	Slide 22
	Slide 23


